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TVL11M ‘ Tirunelveli District ;
‘ Common Second Mid Term Test - 2024

- e -

Standard 11

. Time: 1.30 Hrs. - MATHEMATICS * Marks: 45
A ket ) ' Part-A : ‘ e
Choose the correct answer: £ : : 10x1=10
: _ iy e 100
1) 'Which one of the following is' not true about the matrix |- _0 k:
RS U 005
a) a scalar matrix : | -b)aldi_agohal matrix »
c) an upper triangular matrix. . d) a lower triangular matrix
abd  |Ka Kb Kd. '
2) IfA=|x y 2|, then [Kx Ky Kz is:
P qrr Kp "Kq Kr -
a) A" by Ka - o) 3Ka d) K3
.3) The value of the determinant of A=|-a 0. c-lis ¢/ 7 " .
. . Y . f -b -C 0 ( - : J ek ods , ‘."r'
) } . I . g : . H :
a) -2abc b) abc L0 0. o d) a?+b24c?
4y Theva|ueofA_'B+E3—(~:_+(_f5+ETA' lS £l
) A .,-H__;b)ﬁiﬁg;_[_‘;‘ 96 o d)y-AD

5) If a, b, € are position vectors of three colI:near p—omts then ‘which of the"'
following is true? :

a)_a=b+c " b)23=b+c  c)b=c+a - «d) 4a+b+c=0 -
6) If [5 =13, o[ =5 and 3.b = 609, then [éxbl i e T
Ay 15 AT b)Y 36 N ) 48 N T ) 986,
fim X PR e R
7) x7/ COS X ' . , '_;:‘ o . g
a)2 . . by1 ) 20 e d) 0
sinx _ . . Py ‘
lim =~ = =
8) X|->0 X : _ ‘
a1 ) KT e o s VSR P N
: y G4 : 2 - i
9) Ify = f(x?+2) and f'(3) = 5, then Ox Atx=lis :
o ha)s . b) 25 ‘ ¢) 15 ~d) 10
10) The derivative of f(x) = x|x|, at x = -3 is ° _ X
: a)6 : b) -6 . c) doesnot exist d)0 -
Part-B _
Answerany FOUR questions. Question No. 1615 compulsory L 4x2=8
10 0 ; :
11) If A=|0 1 0 [, show that A%is a unit matrix.
ab -1 : - '
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5 12) Find the area of the tnangle whose vertices are (-2 _3), (3, 2) and (-1, -8):
13) If D Is the midpoint of ‘the side of BC of a triangle ABC, prove’ that
' AB +AC = 2AD . : | L '

jim Yeo 1

14) Calculate: "y v 71

15) Differentiate: y = eXsinx

16) Find the magnltude of axb ifa= 21 + J + 3k and b=3i +5J 2;(

Part C i
‘Answer any FOUR questlons Question No. 22 is compulsory: 43515
: 1 x xz 1-2x &R “X_Z.
' 17) Prove that [x. 1 .)(l = ‘_x? R, P X2 Siox|i
X X1 -Xz )(2-2)( ‘_'1.

18) Show that the vectors a= 21 +3_]+ 6k b =6i +2] 3k and c 3| 6§+2f<, >
are mutually orthogonal : '

i L 24 3t i 2
19) .Show that lim = +2 ki +n_1
N 3n° 470+ 2 6
20\ Find g—y' ifx = a cos’, y = sin3t . WIN MATHS TUITION
T e { - PALAYAMKOTTAI 7092822092
/\/x +1 - e AL
21) Differentiat = : T h R LR
) iate: Y - (3_x-t2)5 A : i R

’*b+cacab

'22) Using factor theorem show that b c c+a b- a-83bc
. ilc-b c-a, a+bl

S PN : Part D : ‘ ;A
Answer ALL the questions: | . | . 3x5=15
S o - O VA Gt 8 IERESR LY ER T 9
23) Verlfy thatdet(AB)—(detA) (detB) forA_ 1 0 7 |andB=[-2 4 0}.
- , 2 3 -5| 9 75
_ (OR) :
Ify= E—m—_-l—x— show tlhat (1—x2)y;—'3><y‘ -y =0
.2/ RAF N 51 :
1 )<2 e g R ALy :

24) Find the cosine and sine angle between the .vectors 3=2] +]+3k and
b=4|—2]+2k. ' . (OR)

_ T x2 +a% -a,
Evaluate: 2 1+ b2 —b

' 25) Differentiate: y = sinz[cost] : :
LetA, B and C be the vertices-of a trlangle LetD, E and F be the mid pomts

of the sndes BC, CA and AB’ respect|ve|y, show that AD + BE + CF 0.
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